P UI1KB0-NY'11'10(00//:dNY 0 Bp"U11IBg-NY 1|80 2 y//:dNyUoIewIoMul [ea1Uy08)
WL 'SO8U/RP U1 |}8G-NY 13012 )//:d1R|1aS S]0YM BU) JO Sa| Jejiluis d9s

httg)://farbe.li.tu-berlir;.de/heollhe01I0n|oo.pdf /.psonly vec{or graphic VG; stMart output
see separate images of this pager//farbe.li.tu-berlin.de/heol/heol.htm

__Un

e

TUB-test chart heol; LABIJND & IECsRGB colour-difference, CIE 230:2019 & IEC 61966-2-1
log & lin[lightnessL*, thresholdAY, sensitivityAY / Y,contrasty /AY,normalized for grey U]
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log (L* g5 JL* 5.2 ) LABIND lightness L* g5 o normalizeq|log (AY/AY,) LABJND tristimulus value difference L*g5 dL* g5 LABJND lightness L* g5 » normalize(|AY/AY,, LABJND tristimulus value difference
L¥L* gs0u  to the background lightness *gs 7 AYIAY, AY normalized toAY, L¥L* gs o0 to the background lightness.* g5 5 AYIAY, AY normalized toAY,

24 1007LF = (@) {In (1L +aY)-In(1+aVYy} [13]|| 28 1004L* = (@) {In(1+aY)-In(l+aYy} [1a] 3 L = Wa) {In (L+aY)-In(1+aYy} [13]|| 6 L¥L* = (a) {In(1+aY)-In(l+aYy} [1a]
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dy/dy,=(1+aY)/(1+aYy) [3d] dy/dY,=(L+aY)/(L+aYy) ] [3d]
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